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B[R] 6,996 167 21 232 849 506 8,265
SRR 1,589 60 13 32 227 76 1,921
aFR8 1,407 51 6 75 259 99 1,798
=R 3,257 124 12 117 686 233 4,196
AR 1,217 24 0 19 188 40 1,448
LR 1,882 50 4 a7 285 110 2,268
mEE 3,234 102 10 123 548 165 4,017
KR 5,194 135 7 247 950 312 6,533
N 3,606 68 3 114 599 211 4,390
HER 4,166 106 4 135 761 232 5,172
BEE 13,228 366 16 662 3,218 965 17,490
FEE 9,810 215 21 442 2,013 730 12,501
RRED 19,983 251 39 657 3,601 1,842 24,531
fESNS 16,402 247 9 561 3,099 1,249 20,318
Hino i 2,762 106 9 103 596 191 3,576
2R 1,524 47 2 34 238 95 1,845
alllR 1,763 54 3 52 272 114 2,144
BHE 1,218 23 1 a7 188 51 1,477
LLBR 1,423 34 2 41 359 112 1,859
REFE 3,344 58 22 98 683 232 4,205
I RIS 3,576 92 8 95 574 181 4,345
EEIR 5,944 159 4 201 1,421 498 7,729
BHIR 16,021 350 27 390 2414 953 19,202
=ER 2,960 78 9 67 572 153 3,686
BER 2,223 64 0 60 409 153 2,756
RERRT 3,678 77 5 104 833 430 4,697
ABRAT 12,943 427 41 669 2,670 1,400 16,750
"ER 8,058 183 7 258 1,738 808 10,244
ZRE 1,706 60 1 54 313 111 2,134
AL 1,203 36 10 58 273 91 1,580
SWE 799 22 0] 11 153 36 985
ERE 903 24 3 27 185 47 1,142
A L= 2,723 91 4 107 631 260 3,556
LBE 4,338 117 3 128 946 457 5,532
Hijm[= 2,154 38 3 61 399 116 2,655
e 926 26 0 22 192 51 1,166
&HIIE 1,237 50 2 38 302 145 1,629
BER 1,623 42 0 48 353 162 2,066
=S 728 9 0] 19 169 50 925
ERR 7,945 203 24 243 1,553 724 9,968
EER 831 43 1 37 216 85 1,128
RIBE 1,209 33 3 28 281 102 1,554
HEARIR 2,094 81 0] 98 424 176 2,697
AHE 1,518 52 3 48 266 101 1,887
=IFE 1,288 35 1 30 299 58 1,653
BREE 1,670 38 3 51 408 141 2,170
RIS 723 1 0] 3 94 48 821
tT=4 0 0 0 0 0 0 0

a&t 195,026 4,719 366 6,793 37,707 15,102 244,611
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B[R] 5,924 123 7 151 692 394 6,897
SRR 1,419 29 0 20 182 43 1,650
aFR8 1,171 24 0] 41 215 74 1,451
=R 2,670 52 3 64 572 166 3,361
AR 1,040 16 0 12 164 28 1,232
LR 1,602 28 0 27 223 73 1,880
mEE 2,757 49 3 78 459 119 3,346
KR 4,266 67 4 150 770 203 5,257
N 3,076 48 0 74 523 166 3,721
HER 3,441 59 0 92 628 161 4,220
BEE 10,359 243 5 461 2,676 679 13,744
FEE 7,736 127 3 306 1,642 530 9,814
RRED 15,633 139 8 461 2,988 1,437 19,229
fESNS 13,589 166 3 418 2,545 900 16,721
Hino i 2,262 52 2 62 499 141 2,877
2R 1,266 32 0 31 200 75 1,529
alllR 1,437 27 0 37 204 71 1,705
BHE 1,018 17 1 31 141 26 1,208
LLBR 1,188 17 0] 28 311 89 1,544
REFE 2,746 28 2 47 601 187 3,424
I RIS 3,022 49 1 57 477 126 3,606
EEIR 4,953 70 1 135 1,186 362 6,345
BHIR 13,047 194 3 257 1,948 678 15,449
=ER 2,532 53 0 41 469 107 3,095
BER 1,927 24 0 32 341 114 2,324
RERRT 3,114 50 1 54 707 349 3,926
ABRAT 10,398 227 8 426 2,244 1,133 13,303
"ER 6,667 99 0 171 1,472 645 8,409
ZRE 1,439 31 0 27 269 94 1,766
AL 974 24 1 34 231 73 1,264
SWE 675 16 0] 9 120 19 820
ERE 780 10 1 15 166 43 972
A L= 2,247 41 2 52 536 198 2,878
LBE 3,641 80 0 84 764 329 4,569
Hijm[= 1,857 29 2 49 336 90 2,273
e 816 14 0 12 174 45 1,016
&HIIE 997 31 0 22 267 124 1,317
BER 1,335 24 0 27 293 127 1,679
=S 632 3 0] 8 153 43 796
ERR 6,532 110 3 155 1,292 554 8,092
EER 706 18 0 29 192 71 945
RIBE 1,014 20 0 12 227 78 1,273
HEARIR 1,752 50 0] 41 370 140 2213
AHE 1,260 31 O] 22 208 76 1,521
=IFE 1,106 20 0 17 269 50 1,412
BREE 1,441 17 0 38 365 123 1,861
FHEE 592 1 0] 3 69 40 665
tT=4 0 0 0 0 0 0 0

a&t 160,056 2,679 64 4,420 31,380 11,393 198,599




